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Mental & Oral Starter 
1) Which of the numbers are multiples of 9?

2) Complete the missing numbers.

3) 54 cm = mm 

4) 7,492 = 7,000 + 400 + + 2

18     49       90       36

3 × = 6 × = 12 × 1 



Mental & Oral Starter 
1) Which of the numbers are multiples of 9?

2) Complete the missing numbers.

3) 54 cm = mm 

4) 7,492 = 7,000 + 400 + + 2

18     49       90       36

3 × = 6 × = 12 × 1 4 2

540

90



WALT: Multiply and divide by 7 

S2S: I can 
-  Develop my fluency when recalling 

multiplication facts 
-  Develop my fluency when recalling 

division facts 



Independent Practice 
Complete	today’s	worksheet.	
	
	

	
You	must	complete	
ques7ons	1	–	6.	

	
Ques7ons	7	and	8	are	your	
challenge	ques7ons.	If	you	
are	up	for	a	challenge,	then	
challenge	yourself	to	have	a	

go.		


